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Z9 - Finding Rational Zeros
/1o Yesterday, one factor or solution was given.

Today you will be finding ALL of them yourselves.

The Rational-Zero Test: Given a polynomial f(x) with integer
coefficients, EVERY rational zero will be in the form

p factor of the constant

g  factor of the leading coefficient

Find all possible rational zeros of the function.

f(x)=3x" +26x" 36x+9
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Find all possible rational zeros for each function then find all
the actual r@thwm

f(x)= 5% +21x2 —21x— 5
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Find all possible rational zeros for each function then find all
the actual zeros.

f(x)=x"—9x* —42x - 18
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f(x)=2x" —15x* +23x + 10
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